Efficiency vs P,

- 02
o
20.18
>
20.16
o
o
20.14
0]
0.12

e i
0.08F -+ P E RCLR SRERLTIRS
0.0Bf -+ Frreerreres b
0.04F - F ESRCL STRTRERS

o =
0.02F-2------ s SLELTIIIEE SUTIIEEES

Ratio

s 0.1

1Y
>
[S]
c

=}
=
5}

Ratio

1

0.9

0.8

1 10 . Gedf’

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—+— DQMstep3_SoftQCD_defaultNEWT2

2 0.09
5 0.08F
0.07f 14

0.065 -3+
0.05F;
0.04f;
0.03E
0.02E:

0.0

-+ +++

...................

.................................................

0.

LD

0.8_

—2 —1
TP (p



	Contents
	Page 1


